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1] (a) Discuss the Nature and Characteristics of Managerial Economics. [14]
Or
1] (a) (1) Explain the concept of Incremental. [07]
(2) Explain the concept of Discounting. [07]
1] (b) Answer the following questions. (Any four) [04]

1) A decision is sound if it increases revenue more than costs , what is the principle ?
a) Theory of income (b) The Incremental Concept
(c) Theory of Equi-marginal principle (d)The Opportunity cost concept .
2) Which is called Principle of Supremacy ?
a) The Discounting Principle (b) The Opportunity cost concept
(c) Theory of Equi-marginal principle (d) The Incremental Concept
3) " A bird in hand is worth two in the bushes " - Where does this phrase apply?
a) The Opportunity cost concept (b) The Incremental Concept
¢) The Discounting Principle (d) Theory of Equi-marginal principle
4) To whom does Cost Analysis related ?
a) Product analysis (b) Demand analysis (c) Supply analysis (d) Revenue analysis
5) 'Business Economics is a study of behavior of firm in theory and practice’-who said this?
a) Bates & Parkinson (b) Spencer & Siegelman (c) Joel Dean (d) D.C. Hague.
6) In what terms is Product Analysis expressed?
a) Definition of quantitative quantities (b) Terminology of expenditure
c¢) Terminology of income (d) Financial terminology
2] (a) Explain the Barometric Indicators of Demand forecasting of Established Product and

Explain Market Experiment Method. [14]
Or

2] (a) Explain Demand forecasting and Discuss factors affecting it . [07]

(b) Explain Trend Projection . [07]

2] (b) Answer the following questions. (Any four) [04]

1) Which is the method to ask knowledgeable people of what the customer will buy?
a) Methods of Expert Opinion (b) Market Experiment Method (c) Barometric Indicators (d) None of
these.
2) What is the "TREND AND CYCLE" method?
a) Ways to get future trends from past trends (b) Market experiment method
c¢) Barometric Indicators (d) Methods of correlation analysis
3) Which factors increase or decrease with Economic changes ?
a) Coincident Series (b) Legging Series (c) Leading Series (d) Correlation analysis
4) Which is the business based organization for Demand Forecasting ?
a) NBER (b) NABARD (c) SEBI (d) None of these
5) What are the systematic attempts to predict the future by drawing on known facts?
a) Supply Analysis (b) Forecasting (c) Demand Analysis (d) Cost



6) If a function has only one factor other than sales, what is the relationship?
a) Simple correlation (b) Fixed relationship (c) Multiple correlation (d) None of these.
3] (a) Explain the meaning of the Cost Plus Pricing Method, and Discuss its advantages and

disadvantages. [14]
Or
3] (a) (1) Explain the Going Rate Pricing Method. [07]
(2) Explain the Experimental Pricing Method. [07]
3] (b) Answer the following questions (any three) [03]

1) By what other name is the Going Rate Pricing method known?
a) Imitative Pricing Method (b) Cost-plus Pricing method
c) Experimental pricing method (d) Incremental cost method
2) One limitation of the Cost Plus Pricing method is that it
a) ignores demand (b) ignores supply
(c) ignoring production costs (d) ignoring costs
3) What pricing policy is adopted in the short term?
a) Cost plus pricing (b) Experimental pricing (c¢) Incremental cost pricing (d) Going Rate pricing
4) What is the revised form of pricing method based on the Rate of Return Pricing ?
a) Incremental cost pricing method (b) Cost Plus Pricing Method
¢) Going Rate Pricing Method (d) Experimental Pricing Method
5) By which other name is Full Cost Pricing System known?

a) Cost Plus Pricing Method (b) Experimental pricing method
(c) Imitative Pricing Method (d) None of these.
4] (a) Draw Break-Even -Charts(product and sales) and Explain Break- Even Analysis. [14]
Or
4] (a) Explain the concepts of Total Cost, Average Cost and Marginal Cost. [07].
(b) Discuss the limitations of Break-Even- Analysis. [07]
4] (b) Answer the following questions (any three) [03]

1) What situation is observed at Break-Even -Point?

a) No Profit Less Loss (b) No Profit No Loss (c) Low Profit Low Loss (d) Low Profit More Loss
2) What is the Break-Even- Point?

a) Total Income and Total Cost are the same (b) Total Income is high and Total cost is less.
c) Total income is low and Total cost is high (d) None of these.

3) Which of the following costs is the same at every level of business activity?

a) Sinking Costs (b) Actual Costs (c) Opportunity Cost (d) Incremental Costs.

4) How do all kinds of Cost take place in the long run?
a) Variable Cost(b) Marginal Cost (c) Fixed Cost (d) None of these.
5) What is the cost of Replacement compared to historical costs during recession?
a) Less (b) More (c) Equal (d) none of these.



